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• Fifth levela) 5

b) 4

c) 2

d) 6

Six bells automatically ring at intervals of 12 minutes, 9 minutes, 8 minutes, 6 

minutes, 3 minutes and 10 minutes respectively. How many times will they ring 

together in 12 hours from the start?

छह घंटिय ाँ क्रमश: 12 टमनि, 9 टमनि, 8 टमनि, 6 टमनि, 3 टमनि और 10 टमनि के अंतर ल में 

स्वत: बजती हैं। प्र रंभ होने के क्षण से 12 घंिे में वे एक स थ टकतनी ब र बजेंीी?
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• Fifth levela) 1320

b) 660

c) 1760

d) 880

The volume of a right circular cylinder is 6930 cm3 and its height is 20 cm. Find 

its curved surface area (in cm2).

एक लंब वतृ्तीय बेलन क  आयतन 6930 सेमी3 और उसकी ऊाँ च ई 20 सेमी है। इसक  वक्र 

पषृ्ठीय के्षत्रफल  (सेमी2 में) ज्ञ त कीटजए। 
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• Fifth levela) 42 m

b) 7 m

c) 1 m

d) 21 m

Two ropes of lengths 21 m and 42 m are to be cut into pieces of equal length. 

What is the maximum possible length of each piece?

21 मीिर और 42 मीिर की लंब ई व ली दो रटस्सयों को सम न लंब ई व ले िुकडों में क ि  

ज न  है। प्रत्येक िुकडे की अटिकतम संभ टवत लंब इय ाँ टकतनी होीी?
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b) 50

c) 65

d) 72

If 30% of a number is 15 less than 60% of that number, then find that number.

यटद टकसी संख्य  क  30% उस संख्य  के 60% से 15 कम है, तो वह सखं्य  ज्ञ त कीटजए।
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• Fifth levela) ₹ 1,200

b) ₹ 1,800

c) ₹ 1, 440

d) ₹ 1,320

An amount of ₹ 9,480 is divided among X, Y and Z in such a way that the ratio 

of X and Y's share is 5 : 6, X and Z's share is 4 : 7. Find the difference between 

the share of Y and Z.

9,480 रुपये की िनर टश को X, Y और Z के बीच इस प्रक र टवभ टजत टकय  ीय  है टक X 

और Y के भ ी क  अनुप त 5 ∶ 6, X और Z के भ ी क  अनुप त 4 ∶ 7 है। Y और Z के भ ी 

के बीच अंतर ज्ञ त करें।
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• Fifth levela) ₹ 1,436

b) ₹ 1,600

c) ₹ 1, 400

d) ₹ 1, 360

A shopkeeper allows successive discounts of 20% and 15% on an article 

marked at ₹ 2,000. At what price does he sell the article?

एक दुक नद र 2,000 रुपये अंटकत मूल्य व ली एक वस्तु पर 20% और 15% की क्रटमक छूि 

देत  है। वह वस्तु को टकस मूल्य पर बेचत  है?



Click to edit Master title style

• Edit Master text styles

• Second level

• Third level

• Fourth level

• Fifth levela) 30600

b) 25200

c) 36600

d) 21000

A certain sum of money (in ₹) is divided among A, B and C in such a way that 

the ratio of the shares of A and B is 3 : 5 and that of B and C is 2 : 7. If A's 

share is ₹ 3600 then what was the total amount (in ₹)?

एक टनटित िनर टश (रुपये में) A, B और C के मध्य इस प्रक र टवभ टजत की ज ती है टक A 

और B के टहस्सों क  अनुप त 3 ∶ 5 है तथ  B और C के टहस्सों क अनुप त 2 ∶ 7 है। यटद A 

क  टहस्स  3600 रुपये है तो कुल िनर टश (रुपये में) टकतनी थी?
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1

2
days

b) 6 
1

2
days

c) 7 days

d) 6 days

A can complete 3/5 part of a work in 12 days. B can complete 2/3 parts of the 

same work in 8 days. In how many days will A and B together complete the 

work?

A टकसी क यय के 3/5 भ ी को 12 टदन में पूणय कर सकत  है। B उसी क यय के 2/3 भ ी को 8 

टदन में पूणय कर सकत  है। A और B एक स थ इस क यय को टकतने टदन में पूणय करेंीे?
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b) 3/10

c) 17/10

d) −7/10

Find the value of (म न ज्ञ त कीटजए।)

6 ÷ [4 × 3 {5 × 4 ÷ (5 of 4 + 4 ÷ 2 × 4)}].
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b) 2 ∶ 3

c) 1:√2

d) √2 : 1

Find the ratio of the diagonal of a square of side 15 cm, to its side.

15 सेमी भुज  व ले एक वीय के टवकणय क  उसकी भुज  से अनुप त ज्ञ त कीटजए।



Click to edit Master title style

• Edit Master text styles

• Second level

• Third level

• Fourth level

• Fifth levela) 20% loss

b) 15% profit

c) 25% loss

d) 10% profit

A vendor bought oranges at the rate of 10 for ₹ 50 and sold them at the rate of 6 

for ₹ 24. What is the percentage of his profit or loss?

एक टवके्रत  50 रुपये में 10 की दर से संतरे खरीदत  है और उन्हें 24 रुपये में 6 की दर से बेच देत  

है। उसके ल भ य  ह टन क  प्रटतशत टकतन  है?
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b) 8 km

c) 10 km

d) 12 km

A student walks at a speed of 5 km/h. When he increases his speed to 6 km/h, 

he reaches school 20 minutes earlier. Find the distance covered by the student.

एक छ त्र 5 टकमी/घंि  की ीटत से चलत  है। जब वह अपनी ीटत को बढ कर 6 टकमी/घंि  कर 

देत  है, तो वह स्कूल में 20 टमनि पहले पह ंच ज त  है। छ त्र द्व र  तय की ीई दूरी ज्ञ त कीटजए।
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